- Winston Churchill

L - DY ) \ L ( \ . J J - J
Yeav 10 'flﬁbg/f?)\,’/'/ WA 2 Reasisn Jepics

These are the topics that you have covered so far this year. These topics, if they appear on the
assessment will be the ones that your teacher will be looking closely at how well you answer them.

Rounding & Estimating

U480, U298, U731, U965, U225

Area

U993, U265, U970, U945, U424

Perimeter

U351, U993

Volume

U786,U174,U484,U915, U116, U617

Surface Area

U142, U464, U523, U893, U929, U259, U871

Prime Factorisation

U739

Indices

U299, U985, U772

Surds

U633, U338, U707, U281, U499, U872

Simplifying Expressions

U105, U662

Expanding

u179,U768

Factorising

U365,U178, U963

Solving Equations

U505, U755, U325, U870,

Rearranging Formulae

U556

Factorising Quadratics

U178,U858

Solving Quadratics

U228, U960

Quadratic Formula

U665

Completing the Square

U397, U589

Fractions, Decimals & Percentages

u8ss, Us94

Percentages

U554, U349, U773, U671

Fractions

U881, U916, U736, U475, U544

Ratio

ué87, U753, U577,U921, U676

Proportion

U721,Ué610

Pythagoras’ Theorem

U385

Right-Angled Trigonometry

U605, U283, U545, U627

Bounds

us87

NOTE: There will be other topics covered in the assessments, some are untaught topics, some are topics that have been
taught at KS3. This is to help you work on your exam skills of scanning for the questions you are able to access which is a

key skill to do well in your maths GCSE exam.

“Buccess 't smemight. Qs wmhen every dany, youw get a little better than the day,
begore. Gt all adds up” - Dwayne Johnson




How to Log Into Sparx Maths

Sparx Maths

Student Login
You're logging in to Sparx at Ormiston Chadwick Academy.
Not your school?

Log in using your
username and Log in to Sparx using Microsoft gm
password.

Your username will or
usually be your name
and surname without Use your Sparx login

spaces. If you are

Username: logged into

your school emails
on the device,

you can just click

Password: this button to log in

Forgotten Sparx login details?

If you have never
logged in before,
click this button
and follow the steps

If you can’t remember your password,
click this button and type in your details — this will send an
email to your teacher getting them to reset your password.

Click the button again in a short while and it will then let you
reset your password (make it memorable)

You will then be brought to the following page where you will find any compulsory homework set for you by your teacher —
you need to be completing this weekly to ensure you are retrieving the knowledge that you have learnt throughout the year.

parx Maths OXP Teacher (1
Compulsory

Hey Teacher,

This is your personalised Compulsory homework. You need to answer every question correctly to complete it.

&

. ~ Introducing Sparx Maths

About Sparx Maths Try some questions Sparx Maths Tips -
&'f ] (:35) (about 5 minutes) ] (©39)

Target
e & o &
.

Independent

™
Learning 9
— If you haven't been

on Sparx Maths yet this year,
you will need to do this short
tutorial to help you understand
how the website works.




How to do Sparx Maths independent Practice

Sparx Maths

*

Compulsory

&

XP Boost

W

Target

Independent
Learning

From the
homepage, click
the ‘Independent
Learning’ tab to
open this page.

Hey Teacher,

This is your personalised Compulsory homework. You

~ Introducing Sparx Maths

About Sparx Maths
[x] (35)

OXP Teacher [

On this dropdown, you can change
the curriculum level (Sparx Maths
sometimes categorises things at a

different stage than we do)

Sparx Maths Tips
2] (©039)

Locked @

Try some questions

(about 5 minutes)

Locked @

You can change
the difficulty
level to suit your
confidence level

parx Maths independent Learing

DA

Compulsory

XP Boost

W

Target

Independent
Learning

& Type in the
code from
the revision
list to bring
up the
¢ revision for
that topic

OXP Teacher ()

Independent Learning

Search for topics:

My activity

Your curriculum: Default level:

M354|

® Key Stage 3 Level2 B

1 topic found

Number » Dividing

Ratio and Proportion

Probability

Clear search

Using a written method to divide integers - M354

>

Geometry

Sparx Maths indspendent Learing

This will
bring up
the task —
click on
each
question to
revise the
topic in
more
depth

Independent learning + Number

Dividing

OXP Teacher ()

Using a written method to divide integers - M354 Level2

v Show building blocks

Using a written method to divide integers

Question 1 Question 2
(‘Answer )

7 -
Introduce (Answer )

Question1 Question 2

ol :
Strongthen  (Answer) (Answer)

Question 2

I Question 1
ol =

Answer )

Deepen

If you are finding it difficult
you can try some of the
‘building blocks’ tasks which
will help you with the prior
knowledge you need to
access the main task

Question 3

(Answer)

Question3

(Answer)

Question 3
(Answer )




How to complete a Sparx Maths task

BEFORE beginning the task you need to have paper to do your working
out and to write down the bookwork codes.

< SparxMaths independent Learning OXP Teacher [\ =

Independent learning * Number / Dividing

Using a written method to divide integers - M354

v Show building blocks

This will
bring up
the task —

Using a written method to divide integers

Question 1 Question 2 Question 3

click on If you are finding it difficult
[ iy —_
each Introduce  (Answer)) (Answer) (‘Answer ) you can try some of the
question to ‘building blocks’ tasks which
revise the will help you with the prior
topic in " Question Ques(mn\l Question3 knowledge you need to
e Swengenen  (Answer) fsid Rzl access the main task
depth

1 Question | Question 2 Question 3
Ll

— — —
Doepen  (Answer (answer)  (Anawer)

Write down the bookwork
code before starting the OXP Teacher =
question (you will be —
asked for this later)

Summary

Galuator
Bookwork code: 14 [IEEV SR
X ot allowed

Copy out the calculation below as neatly as you can. Work out the
answer.

Work out the answer

) on your paper, note

it down then click
If you are stuck, watch the here to type in your
video which will be a similar answer
question with different
numbers — make notes to
help you understand and
then try the question again

@ Zoom

(@« Watch video )




“Mistakes are the stepping stemes te uisdem.” - Oprah Winfrey
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DO/Me, KA, AT

STV CaV/Ime U

e.q. Factorise 6x? + 17x + 12
To find the 4 To find the arvea of a sector: I
LCM without STEP 1: Multiply the integer term by
reeding to

. 2

keep listing angle ) the coefficient of x
them: 3600 <TUX ¥ 2
srepr: 6 9 STER 2: Find @ pair of this numbers' I

Express t‘kg 9. factors that add to make the x 2

numbers as Find the area coefficient s
products

12
of their 24=7x7x2x3 36=2x7x3x3 The fraction of | [ f[‘;;,;;,,j

6x7=72

: ! STEP 3: Rewrite the equation with
prime the whole circle these two factors

8+9=17
DV::”zE:M STEP 4: Factorise by 6x2 +17x + 12
diagram 9rouping ox% + 8x + 9+ 12
2x(3x + 4) + 3(3x + 4)
LCM=2x2x2x3x3=72 - (2 +3)(3x + 4)

TiP: Fractional indices are just another

the cirel
factors e

TIP: When substituﬁr\g, ‘swap’ the
way of writing roots For the surface letter for the number (use brackets)
area, draw out k2 a.
The power 1_ \/— each individual 34 - 2b given that
2 face, work out da=-3b=-4
the areas then Aem '

1_3 X " add them 3(-3)-24)=9+8=17
The power - = v Lpt'h"e"‘::l;: t together. Front = 2 x 4 = 2 = 4cm?

. . e dem? T1P: Multiply the number outside the
L. (denominator) Back =2x 4+ 2= 4em bracket by the number inside the bracket
The power =V first Bottom = 4 x 7 = 28cm?

Tip: Left side = 3 x 7 = 21cm? Tib: When multiplying and Tip: I operations
Remember : ido=23x7 = 2 dividing with directed are directly next to each other
The power 1-% to+ 2 for Right side = 3 x 7 = 2Tem rumbers: (and o rumbers in between),
4 el cxe s cio o wse the following rules:
ridngles :
3 133 9 Total Surface Area = 78cm? Tt oo -
3 1 v o
eq.162 = (162) ae o [

sxr ook

Tip: Think of square numbers that are TIP: Rationalise the denominator medns to
t the ber in the d .
110 1f the index (power] is negative, it means factors of the number in the sur make the bottom number not a surd

the reciprocal e.g.

T1P: 1f there are two terms, remember to

change the sign (this makes the surds cancel)
&g V72 =/9x8 . -

TIp: Continue e
= until th <
572 means the reciprocal of 5 VI x8 m: rlw me::e 2432 _2+V2 s V2
soi =3\/§ square 4—VZ 4+VZ 4-\2
25
=3 /4_ X 2* factors T1p: Use

L : 2 10+ V2T 4 grid method t
1672 means the reciprocal of 162 =3 XV4 X2 T 12 m:,?;:l:’ r;\:o J:e,m:
1
50 — — N by two terms
4 3X2Zxv2 _5+3V2

=6V2 7

TiP: Remember a quadratic equation e.9. Make x the Sub_jec‘t O‘F 5x -2y =tx + 3 X
needs to = 0 before you factorise it! J TIP: Get rid O‘F the
6x2 +17x +12= 0 M"W”"em smallest letter first
6x? + 8x+9x+12=0 5x—23-—fx=3

2(3x + 4) + 3(3x +4)=0 STEP 2: Move everything else to the other side SO,VQ 4a + 3 3

(2¢+ 3)(3x+ 4) = 0 Sx - tx =342y e

T1P: For two things to multiply together to = 2a + 3 3

STEP 3: Factorise the side where the 'subject’ is -
ONLY take out the subject -3
TiP: Unless the _ 2a
bracket is the (5~ t)=3+2y +9
same, there will STEP 4: Divide by the bracket

be 2 answers
when solviruJ a

quadratic x= %

0, one of the things must be zero

a

The most important thing to remember is not to give up — if you write nothing for a question, you will
definitely get it wrong, so have a guess, you will get marks for working out.
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